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A hard working problem solver

His daughter Phoebe: “I think one of the ways he succeeded in accomplishing so 

much is that he was very disciplined. The alarm always rang at 6:45 at our  house.  

He always got right up. While mother fixed his breakfast he got dressed and was out 

the door punctually at 7:30. You could set your watch by it, but he never hurried. He 

walked a mile to the train station and rode in to NYC. His return home was just as 

regular, so we could plan on eating at 6:15 PM. Some days he took the ferry across 

the Hudson River instead of the tubes under the water because the air was fresher. 

He did like being outdoors. I have a picture of him of him stretched out on the lawn 

taking a nap. He always reserved Saturday for household chores and Sunday was 

church, a good dinner and time to read or think. He frequently had a legal size 

yellow notebook on his lap and started figuring those equations. I suppose he 

couldn't let go of a problem until he got  it solved.”

H4.)5*L7*K7*M6(.N5J



!"#$%"#&'()#**(&+ ,#-"$./-*(&,(0(1(&"(&2/1-#)#3($&'#"/%-$ 47

Keys to Success

• Talent and creativity

• Ability to find good stimulating enviroments

• Curiosity

• Energy

• Searched fundamental problems

• Catch the essence abstract away details

• Sound use of mathematics

H4.)5*L7*K7*M6(.N5J
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A Modest Person

• My impressions and feelings as a stranger in the new 
country:  I don't think it was any different from what it 
would have been if I had gone to Karlstad or 
Stockholm.

• Distinctions I have received: I have received honors 
for  technical work.

• Literary works, books, etc: I have published a few    
technical papers.

• Inventions discoveries, other notable achievements:  
I have  been granted a number of patents.

H4.)5*L7*K7*M6(.N5J
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Figure 3.11: Amplitude histograms for a large ensemble of random walks
(20000 walks). These snapshots correspond to different number of steps; top
panel, 10 steps; middle panel, 40 steps; bottom panel, 160 steps. Although
the number of steps is not very large, it can be shown that these histograms
are very close to Gaussian distributions. So, the ensemble average is very
different from the time average. This is an example of a process that is not
ergodic in any finite time interval.
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ω2 + γ2

Sx(ω) =
1

ω2

ξ2

ω2 + γ2
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$

HG$.*4.$E3$%&$*'//'6('%&'*',($1*,'*2$%6#(F*6G$((.',$*2$,*.35).$*0.)a%#'%)*b
E3'%2)*E3$6()*-#$%$*"'.'(($.#&&'()*")5$*3%*G.)"$66)*2#*Z#$%$.*b 6#*")5G).('*
")5$*3%'*,$??$*2#*G)($%&'J7

Sv(ω) =
ξ2

ω2 + γ2
→

ξ2

ω2
(ω ≫ γ)

Sx(ω) ≈
ξ2

ω4
(ω ≫ γ)


